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1. How does your mother usually go shopping ?
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3. In person 4. picking grapes

5. go skiing 6. checked in
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1. Tom and Jack, don’t be bad students, please. / or Tom and Jack, please
don’t be bad students.

2. Who is talking to my mom in the park ?

3. (What day is Dad not at home ?
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(1) Don’t litter. (2) Don’t eat or drink.
(3) Let’s follow the rule(s). (4) hanging the bell(s) on
(5) Come and help ! (6) is running around
(7) are jJumping up and down (8) are blowing kisses to

(9) are shouting his name
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